NOTES:
1 ‘OIINCHESTER ELECTRONICS NOMENCLATURE ARE ENCLOSED IN BRACKETS [ ]
HERE NECESSARY TD ENSURE CATALDG NUMBER DDES NOT EXCEED 15 DIGITS
ORDERING INFORMATION
[XX]
clum] -] ®—|BK|-| | - [XxX] D
C-OPTIONAL CLOSED ENTRY SOCKET CONTACT
NO DESIGNATOR- STANDARD OPEN ENTRY CONTACTS I
L [SPECIAL VARIATION OF STANDARD SERES)
UMI SERIES DESIGNATOR CONSULT FACTORY
% FSC [FC] = SOLDER FILLED CUPS
MICRO-MINIATURE RACK AND PANEL, 22 AWG CONTACTS, 2030
T e oS CONTACT PLATING VARIATION
BLANK [A] = STANDARD GOLD FLASH WILL BE SUPPLIED
SPECIFY: 4, 5. 7, % M, 14, 20, 26, 29, 34, 44, 50, OR MS50 UN.ESS OTI‘ERWISE SPECIFIED.
30 (8] -
|CONTACT TYPE DESIGNATOR| 50 [C] = 000050 N GOLD (PER M28748) C
M= MALE PN, SJLDE? CUP (PHOS. BRONZE)= STD- (M20748)
EH-F- FEMALE SOCKET, SOLDER CUB, CLosED ttay [OPTIONAL REINFORCEMENT MTG_BRACKET
PHOS BRONZE- (M28748)
- BK = DESIGNATOR »TO ORDER BRACKETS SEPARATELY
BF= FEMALE SOCKET, SOLDER CUP, BERYLLIUM COPPER- OPTIONAL SPECFY SERES. NO OF CONTACTS & BK
(i.e UMI-29BK)
[OPTIONAL CONTACT TERMNATION DESIGNATORS]
DO7 [D1] = 2023 DIP SOLDER TAIL X .070 IN. LONG DD13 [DS] = 2030 DIP SOLDER TAIL X 125 IN LONG =0PT|ONAL HARDWARE POLAR'ZAT|0‘|I
D09 [D2] = 2023 DIP SOLDER TAIL X 093 IN. LONG DD16 [D6] = @030 DIP SOLDER TAIL X 156 IN LONG
D14 [D3] = 2023 DIP SOLDER TAIL X .40 IN LONG DD31 [D7] = 2030 DIP SOLDER TAIL X 310 IN LONG R = REVERSED HARDWARE DESIGNATOR
D18 [D4] = 2023 DIP SOLDER TAIL X 180 IN LONG WW54 [W1] = 2025 IN SO NON ROTATING WIRE WRAP 2M [M] = 2 MALE GUIDES, SCREWLOCKS OR JACKSCREWS f———
TAIL X 540 IN LONG 2F [F] = 2 FEMALE GUIDES, SCREWLOCKS OR JACKSCREWS
HARDWARE VARIATIONS
| CONNECTOR WITHOUT HARDWARE FIXED_SCREWLOCKS-CHASSIS MTG |
W= NO HARDWARE (ie. UMI-14M-W) 1SL [SL1)= 2-56 THD (STAINLESS STEEL- 150 MTG STUD EXT.)
2SL [SL2]- 3-48 THD (STAINLESS STEEL- .50 MTG. STUD EXT.)
POLARIZED GUIDES: 1SL25 [SL3]= 2-56 THREAD (STAINLESS STEEL- 250 MTG. STUD EXT.)-PER MIL-28748
BLANK STANDARD POLARIZED GUIDES (BRASS, GOLD FLASH FINISH) WILL BE SUPPLIED 25L25 [SL4)= 3-48 THREAD (STAINLESS STEEL- .250 MTG. STUD EXT)
UNLESS OTHERWISE SPECIFIED
SS = STAINLESS STEEL POLARIZED GUIDES .150 MTG. STUD EXTENSION SHORT TURNABLE SCREWLOCKS:
$S25 [SS2]= STAINLESS STEEL POLARIZED GUIDES 250 MTG. STUD EXTENSION- (PER MIL-28748) K [Kl= 2-56 THD (STAINLESS STEEL HARDWARE & KNOB)- PER MIL-28748
1KL [KL]= 2-56 TH'D, SHORT SLOTTED-KNOBLESS (STANLESS STEEL) B
POLARIZED GUIDES WITH HOOD & CABLE CLAMP: (UNAVAILABLE FOR SIZE 4 ONLY) 2KL [KL2]= 3-48 THREAD, SHORT SLOTTED-KNOBLESS (STAINLESS STEEL)
HR= TOP OPENING HOOD WITH STANDARD PQL GUIDES (BRASS, GOLD FLASH) 1K15 [K15]= 2-56 TH'D SHORT SLOTTED KNOB @16 X 28 LONG (STAINLESS STEEL)
HS= SIDE OPENING HOOD WITH STANDARD POL GUIDES (BRASS, GOLD FLASH) 1K16 [K16)= 2-56 TH'D SHORT SLOTTED KNOB @19 X 32 LONG (STAINLESS STEEL)
SSHR [SHR}= TOP OPENING HOOD WITH STAINLESS STEEL GUIDES 150 MTG STUD EXTENSION 1K17 [K17]= 2-56 TH'D 094 HEX SOCKET KNOB 816 X .24 LONG (STAINLESS STEEL)
SSHS [SHS]- SIDE OPENING HOOD WITH STAINLESS STEEL GUIDES .150 MTG. STUD EXTENSION. 1K18 [K18]= 2-56 THD 094 HEX SOCKET KNOB 219 X .30 LONG (STAINLESS STEEL)
WHR= TOP OPENING HOOD & CABLE CLAMP-ORDERED SEPARATELY-WITHOUT HDWE. (i.e. UMI-14-WHR! 1K19 [K19]= 2-56 TH'D SHORT SLOTTED KNOB @16 X 23 LONG (STAINLESS STEEL)
WHS= SIDE OPENNG HOOD & CABLE CLAMP-ORDERED SEPARATELY-WITHOUT HDWE. (ie. UM-14-WHS) = 2-56 THD .078 HEX SOCKET KNOB .12 X 20 LONG (STAINLESS STEEL)
1K24 [K24]- 2-56 THD .094 HEX SOCKET KNOB 2.16 X .16 LONG (STAINLESS STEEL)
LONG TURNABLE SCREWLOCKS WITH HOOD & CABLE CLAMP (HARDWARE USED WITH HOODS ONLY) 2K15 [K25]= 3-48 THD SHORT SLOTTED KNOB @.16 X .28 LONG (STAINLESS STEL)
4KHR [KT]= TOP OPENING HOOD WITH 2-56 THD STAINLESS STEEL SCREWLOCKS- PER MIL-28748 2K16 [K26]= 3-48 THD SHORT SLOTTED KNOB .19 X .32 LONG (STAINLESS STEEI
1KHS [KS]= SIDE OPENING HOOD WITH 2-56 THD STAINLESS STEEL SCREWLOCKS- PER MIL-28748 2K17 [K27]= 3-48 THD SHORT SLOTTED KNOB @.16 X .24 LONG (STAINLESS STEL)
WKHR [WT}= TOP OPENING HOOD & CABLE CLAMP-ORDERED SEPARATELY-WITHOUT HDWE (ie UMI-14-WKHR [UMI-14-WT]) 2K18 [K28]= 3-48 THD SHORT SLOTTED KNOB @.19 X .30 LONG (STAINLESS STEEL)
WKHS [WS}= SIDE OPENING HOOD & CABLE CLAMP-ORDERED SEPARATELY-WITHOUT HOWE (e SMI-14-WKHS[UM-14-WSD
KH [KH]= LONG TURNABLE JACKSCREWS (2-56 TH'D STAINLESS STEEL) USED WITH HOODS ONLY-
ORDERED SEPARATELY-(WHEN ORDERNG SPEOFY SERIES AND HOOD SIZE, ie UM-S-1KH [UMI-S-KHD
PER_ANSI Y14 5M-1982 OST cooe:
NG OMENSONS ARE N NCHES Litton
1/02/90 TOLERANCES* -
-t @':l winchester S Bt A
ok Electronics
ANGLES * SCALE-
°"§B& "
as
82 T COMPOSITE QUTLINE ASSY.
ggﬁﬁ UM- O M/F CONNECTOR
w ORAWN DATE | CHECKED. TATE
AVS. 05/05/88 LV 05/06/88 -
pa T =
_ T woe|C| 093008 |[=1- 4|E

2 ‘ 1

June 2006 - This drawing became the property of Winchester Electronics Corporation, Wallingford, CT.



K&E 107155 7-79 41727+

UMI-A4M  UMI-4F UMI-7M  UMI-TF UMI-{{M UMI -1IF _UMI-34M  UMI-S4F NORY Y N e REVISIONS
\ SHOWN . SHOWN SHOWN SHOWN SHOWN SHOWN SEZE A B C D"’wo SYM. DESCRIPTION DATE|APP'D.
et 195 ~=m (G0 H— 4 et 25 () - I : _ A
| S ”’"1(‘2?0 et T e’ 4 |.562 %522 | 195 |.468 E eceoreer 1 Lo |
A ) TTTITN r Y : € — B : .
{; 7”"@3 }é T Ai _ @ i () 5 1.468 | |.190 |.375 ‘
B % ﬁ@m, ‘B’ B s | - ‘EDI—? :/‘:Té%ﬂm @, **FSETYP ' T@A—r wigng | 1| 562 |%%%g| 190 | 468
S LT S VT T AT Sl o Tesel 7 a0 | see
| § ; N | jf; 15 e K S A Lt FORsizEs|H] 532 | ZY82|.270 | 438
Y 2 &) *ﬁ@ © $ ’L* \_@j 5 l S fLta|344450 | 14 | 625 | 7/a |.270 .63
- i R ﬁ” WMJ -W : . - . + 4 * + * * : g~ |
OO0~ o e e O8] e l—ﬁ— 081 TYR | + + - :: - :r_+ (2 D 20  .814 ]%6 2701720
WIRING SIDE SHOWN WIRING SIDE SHOWN FOR SIZES 57.9| WIRING SIDE SHOWN FOR SIZES 11,14, 20, % IERE ' 26 | 1.000 1Y% |.270 |.906
2:1) (2:1) 26,29. (2:1) K | <§a ,, RO) | 29 1.094 1 W, 270 [1.000
el OO0 TYR | 34 11.032 1 | .380|.938
B - o . T T T 44 |, 28[ 4 */a 1. B80C },18‘7'
'
RE"OMMENDED PANEL CUT ouTS UMI-CIMW UMI-( )JFW o TacaT 52 Taso o
A =| 0% DIA, - STANDARD SOLDER CUP TERMINAL ~  STANDARD >0 1408 (175 | - :
(ZHOLES) | 030 DIA (4:1)
* ‘_{1\?}\ SZR TYP )cg PN o S : (‘H — __}ij
+ 1
? ( OTBR. TYR - ! . | | L JTOZB @i [
MALE ‘/{fCONNE,QTQR _ 1%4 . FEMALE KCONNECTOR | D!PSOLDER TERM!NAL . DlP SOLDEF{) TERM!NAL
e ‘*i /F'%Z_f' ? i i ( DETAIL A @) DETAIL B (41)
\? | H II II_J—‘_.-II:> ”___ Hl. JI 1 [ ]l_ . I%_i_”__i!‘\ N II__.___Iﬂl I 1 - .
4 ,,D'-> BRTYP Li{f__}”_ | TYPE | DIM.'Y’ TYPE | DIM.'X’
- Ws\d;t S {"i”“:—fi" 035 DIA . . DO 065 DRIz | 2B
f !L # —09% £ SEg DETALSABC  CTECUR SEE DETAILS ABC FOR 825 DIb D14 1 .140 pbie | .156
= D ey FOR CONTACT TERMINAL  VARIATIONS CONTACT TERMINAL VARIATIONS. . i | .180 DD31 | .310
NOTES: '
LMATERIML & FINISHES:
MOLDING - DIALLYL PHTHALATE PER MIL-M-{4, TYPE SD&G-F.
CONTACT S - SPRING TEMPER PHOSPHOR BRONZE PER A& -B-T50,G0LD PLATED OVER COPPER OR
BERYLLIUM COPPER PER QQ-C-530,GOLD PLATED OVER COPPER.
T WASHER- SPRING TEMPER PHOSPHOR BRONZE PERGIQ-~B-750,GOLD PLATED OVER COPPER.
SCREWLOCKS,NUTS, WASHERS- STAINLESS STEEL NON-MAGNETIC , PRSSIVATED.
GUIDES - BRASS ASTM RI& , GOLD PLATED OVER COPPER OR STAINLESS STEEL #3073, PASSIVATED.
HOODS & C.CLAMPS, BRACKET - ALUMINUM, ANODIZED PER MIL~-M-8625A.
KNOBS,SET SCREWS . NUTS - STEEL , CADMIUM PLATED PER GA-P- 416, IRIDESCENT GOLD COLOR.
RET. RING- BRASS PER GR-B-626,NICKEL PLATED.
C.C.5CREWS~-BRASS, CADMIUM PLATED PER GQ-P-416,IRIDESCENT GOLD COLOR.
LOCKWASHER - PHOSPHOR BRONZE ,CADMIUM PLATED PER QQ-P-416,IRIDESCENT GOLD COLOR.
540 T!
7-ELECTRICAL SPECIFICATIONS: ~ L I
CONTACT SiZE - NO.22 (D20 DIA.) ACCOMMODRTES NC.22 AW.G. WIRE. = = S j_
CONTACT RATING- 5 AMPS.. . |
CREEPAGE PATH BETWEEN CONTACTS - 4@ MIN. ..025 SQUARE-
AIR SPACE BETWEEN CONTACTS- .031 MIN. o
WIRE WKRAP TERMINAL
TEST VOLTAGE | WORKING VOLTAGE | | DETAIL'C” (4)
SEA LEVEL | 1000 VOLTS A.C. RMS. | 420 VYOLTS D.C.
70,000 300 VOLTS A.C.RMS.| |25 VOLTS 0.C.
U.S. COMPONENTS INC.
35 CARLOUGH ROAD BOHEMIA, N.Y. 11716
- TTE COMPOSTTE OUTLINE ASSY, |
T T e e —]_ UMI()"FCONNECTOR
EF"EGTW‘ AP“’?‘ 24, 1683 THI“ 1 ::l::c:;j:‘::Tii;;z:;iN;E;;::: iiekaki — FiNISH APP'D BY gzif? |
_DRAW!NG BECAME THE PROHEﬁW OF PROPERTY OF U.S.COMPONENTS, INC. APPLICATION ° ;79 :_w SATHET
s ;_iTerh; SYSTEMSY, INCORPORATED AND SHALL NOT BE EMPLOYED, COP- Teiie Tornnwine RUMBER g ppmryy
WiNCHE%TFP fLW TF?ONV‘O 5 v'%“}!ulv?% IED, OR DISCLOSED TO ANYONE, IN To:::::f:s UN:iii?;:iﬂmsiizz?::n " AS _ _ 7 _ . 7 e .
Lo e | | e e mecenn | B00e | Vea | 1070 093008 suecra| B

June 2006 - This drawing became the prope_f;y o'f-'Winchester Electronics Corporation, Wallingford, CT.



K&E 107155 7-79 41727+

TOP VIEW SHOWN FOR | REVISIONS
fKHR% S1Z7ES 26 THRU 50. | i SYM. DESCRIPTION DATE|APPD.
NING i E |SerSHEET- 1 Lbh| o
S e
\BJ ?:Ei?kﬁ } %f
g T
| i 3 ‘ - :
59 25 DIA- K CABLE OPENING ™
I ToP ¢4 - ¥ (2)HOLES
37 OPENING | | j | - L
64 iyl | | ‘
é el | |
| {
%‘ BN _ % l -E JE t:r :
| O B T
\Ai El"‘]'_:“—rj—:j:] SiDg . i . Iﬁ _ (451>
oy OPENING | | . FIXED SCREWLOCKS-CHASSIS MTG. a
; ~ TYPE IK o
= 2-56 TH'D SHORT TURNABLE SCREWLOCKS ; - oy
o § ig% WITH KNOB (a) STYLE | P’ | 'R’ |'5 THREAD| ‘T
) 1SL | 50 | .BOO | 2-56 . | .543 r Y T
B T, R —— 25L | /B0 | .500 | @-48 | 543
7 - R 1 - " 0 X : - : : i i
'z TYPE IKHZ 0407 ¥, 09 i 15L25 | .250 | .590 | 2-56 | .630 L |
LONG TURNABLE SCREWLOCKS WITH AP AR 5 1 — et ran T e T
l s e ON MALE CONNECTORS FEMALE GUIDE OR SCREWLOCK ] St
: f P17 MOUNTED AT A END, " TYPE BK |
A | 5 3z ON FEMALE CONNECTORS MALE GUIDE OR SCREWLOCKS RS - 021
2 | { 6; I MOUNTED AT A’ END. OPTIONAL CABLE CLAMP BRACKET %?;9{ |
] ' 'I |
; ‘Y B COABLE )R CABLE | EYNE EC T v T K CABLE
. é SIE D A" | opening | oPeniNGg | C ;;Esé E CE G H OPENING
i ‘N'THD REF IKARS | HR/s asys |HRESSHR {KHRg | REF | £.010 | REF | MAX. REF ,
- - oD lEE TYPE 1KL £ 2KL 5 | Yy g ia8x.33 | =24 Vg % | PU%y Ve | — | — | —
o N S R 20 e T Ese T Yy VB |8x.33 | 1Bx.33 |3, P |¥%q| Va21.130 | 562 .72 .50 | U3 % 16
tKH %5 7ES 5 TH ! s B KL T ; : L - -
“ -- 9 58 |.1&%.33 | 18%x.33 | g |/ fan | 130|656 .81 |.BO|.1D%.16
N - - 4 32| "7 22
ol - i 2%4’ Sk |24 x.33 | 24%.33 “Y%p| foo | “Ve4| Vaz 130|532 | 62 |.50 .17 x.22
FOE VBN FOR = % 4 (21, |98 2433 | 24%.33 g %, %%4 | Wie 120 .625 |.78 .50 | .17 x.22
5 THRU 34 ONLY = = ;] ‘
RN A HR .24 % .46 | 53 {
1 L 20 |2y | % | 24x.a6 (R EEXIE L 104, Ps | Ve 120 .814 |97 | .87 | 26 x. 3
! . | N
N A 26 |2, 1%k | .24x.46 |.24x.48 | 1Y |V |"Vea | TWa 1301000116 | .87 | .29 x.44
% N 29 (2Y,, |5 | 2ax.46 |24 .46 | 1Y%, Ve |%Veq |" %4 130 |1.094 | 1.25].87 |.39 %.44
OPENING ll | 040 ? 34\ Ve 195 | 24%.46 [.34x.46 (1Y% | Ve |®%q V64 | 190 1032|119 |87 | .42 x.47
T 1% - ' \
j ' . i i 53 52
| —PE 5 N 44 | Yo 113 | 2ax.46 | .3ax.46 |12 |Tea PV ~ %4 190 [1.281 | 144 |.87 | .46 x.53
B YPE GUIDES . |
: . L Sl &4 i B BC VI R . 5. 153 B2, 153 o~ _ . e
R STANDARD POLARIZED bRASS GUIDES OR GPTIONAL | 20 | /e |16 | 134746 |34 .46 | 178 “Toa| " 7q "¢ 190 |1:408 | 156 .87 |.46 % .53
STAINLESS STEEL GUIDES .150 MTG STUD EXT. : r
OR .2B0O MTG. 8TUD EXT. (4 D o U.S. COMPONENTS INC.
STYLE * L NV SN 'i) T o . 35 CARLOUGH ROAD BOHEMIA, N.Y. 11716
' ' ' B I T COMPOG TE OUTLINE ASSY,
SINY; A20 484 | 53 c .-mis DRAWING, THE DESIGNS, AND UMt ,}ﬁ/#’ {:QNNEQT@Rﬁ . 3
&4 S5 | . 1BO 484 531 1 o - [ ipEAS EMBODIEDS’IN THE DEVICE TO TTCITIYYS e ;é‘g“
| - R | 5625| .250 | 578 | 625 e ot 1959 105 | | oF PRODUCING THE DEVICE ARE THE e PR | 52587
T\(pE HS gf SSHE Tﬁégicjgzibiz?l;ﬂ;‘i:ﬁ:ji:ﬁfﬂ; | PROPERTY OF U. 5. COMPONENTS, INC. APPLICATION FimisH ‘ Y DhATE
- - _ LITTON  SYSTEMS, .INCORPORATED |* | AND SHALL NOT BE EMPLOYED, COP- r T ORAWING NUMBER \M’{Mh éif:tj 4
STANDRQD ’GU!QE% WITH HQDE:% CABLE CLAMP, ) -WINCHESTEF? ELE(_}TRDNECS D!}JISJC}N ED. OR DISCLOSED TO ANYONE. IN TOLERANCES UNLESS OTHERWISE Sl;ECIFIED ?&g |
STSTC?LHDE% W!TH HQQQ‘%’:AELﬁ CLAMP, . (2;;) | . ' v‘ 4{)0 PAF{% HD::W,.ATEﬁfO-WP%-QT.GB?B&l: ggztAggiio\ni::::;‘:J:E CONSEN'T . DE‘fIIMALs iF.RAC-.r.IONSV ui-Af] ULfR NOTED Qgsmg 453‘7‘1_5 Fq E

June 2006 - This drawing became the property of Winchester Electronics Corporation, Wallingford, CT.



OPTIONAL KNOB CONFIGURATIONS FOR TURNABLE JACKSCREWS
19 HEX KNOB —
.16 KNOB 2.19 KNOB =~ a2 16 KNOB
SET SCREW 4-40 THD SET SCREW 4-40 THD SET SCREW 4-40 THD SET SCREW 4-40 THD
031 SLOT—”— 047 SLOT—I I— 32 094 HEX o 094 HEX -
66 —L 67 —1 40 64 63
63 64 59
Tl ) ] % N
i 12 1K16 12— 4 K17 2 ' K18 12
2-56 THD /IK/IB 2-56 THD 2-56 THD . 2-56 THD
216 KNOB 012 KNOB 016 KNOB ©.16 KNOB
GROOVE PIN GROOVE PIN GROOVE PIN SET SCREW 4-40 THD
031 SLOT—I 29
094 HEX
047 SLOT—I I— 23 078 HEX ~ 20 16 . -
— 5
I [ )] — b )
—t 62 I 63 11 [T 64
57 54 59 50 55
ol d (N i I _ 1 [ 1]t
U U J % l
" Y n ~“] .12:|
556 THD K19 15 2-56 THD K21 A5 2-56 THD K24 ] 3-48 THD 2K15
.19 KNOB -~ 216 KNOB 19 HEX KNOB —
SET SCREW 4-40 THD SET SCREW 4-40 THD SET SCREW 4-40 THD
047 SLOT—I I— 3
094 HEX
i o4 094 HEX ~ 30
66 —L &7 I\ N 60 65
59 64 —_—
i | i
e I | i i | i 1t
M " ]
2K16 12— 12 o ©
3-48 THD 3-48 THD 2K7 3-48 THD 2K18
§ ARG VITSH082 T
L, Eg TS nBGos e ey, " ECFED Litton
Z8 B3| 105/9% TOLERANCES Wi
g | =8| 1/05/90 | inchester Uipaonn, Corractcul
EEE% T @ (l Electranics o
¥ ANGLES £ SCALE: —
gg§§ E P2R8 PATERAL
ki i gzee = COMPOSITE OUTLINE ASSY.
ity 2ies _ UMI- (O M/F CONNECTOR
DRAWN CHECKED DATE
gegigg ki IMG. 1/14/90 -
S _ oD e =G 093008 w e 4| E

2 1
June 2006 - This drawing became the prop?rty of Winchester Electronics Corporation, Wallingford, CT.




